by The Campus League of Puzzlers

Solution to Wraparound:

Answer the clues and fill them in the grid. The clues
are given in alphabetical order by answer. Each an-
swer is seven letters long, and is filled in by starting
on the left side, filling in three letters, then one in the
offset box, and then wrapping back around and fill-
ing in the last three letters right to left.

P|UJ|E B
EVENTER slolL |
PUEBLOS
RELIEVE Tie K
RETINUE RIEIL I
SoLICIT E|V|E N
TICKLER RIE|T |

E|U|N

Reading the letters in the offset boxes gives the
answer BIKINI.

Congratulations to TeamSurfbort, CoyoteCreed,
and Lisa Partida for being the first three solvers to

submit the correct answer to last week’s puzzle on
our website.

If you enjoy puzzles, we hope you will join us at
the annual Berkeley Mystery Hunt at the end of the
spring semester.

This puzzle is the ninth in our ongoing se-
ries. Submit your answer on our website
(http://puzzle.berkeley.edu).  We will print the

names of the first solvers to submit a correct answer
in next week’s column.
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